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SUBJECT: SCIENCE
BIOLOGY - (Crop production and management) °
Fill in the blanks.

1. Man gets food from plant as well as

Mustard is a crop.

Maize is a crop.

The first step of crop production is

Manure is an material.

The loosening of soil is called as .

Kharif crops are harvested at the end of season.
8. Earthworm is called as

Answer the following question as directed.
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Arrange the above agricultural practices in correct order.

9.Why ploughing is important?

10.Write the difference between manure and fertilizer.

11.Why should we grow seeds in moist soil?

12.Why do we need to irrigate fields well before sowing seeds?

13.What are organic foods?

14. What are weeds and how do weed affect crops?

15. What is animal husbandry?

16. Why is crop rotation considered a good agricultural practice?

17. Rakesh was preparing to produce crops and was making the list of agricultural practices: irrigation, removal of
weeds, storage of grains, preparation of soil, sowing, adding manure and fertilizers. Which agricultural
practice is missing from the above list?

18. What precautions should be kept in mind while sowing seeds in a field?

19. Write short note on the terms: a. Storage b. Harvesting.

20.Design a concept map for basic agricultural practices.

Chemistry:(Coal and Petroleum)

Q1. Name some renewable sources of energy.

Q2.  Give some examples of fossil fuels

Q3. Name the elements present in coal.

Q4.  Name the process of conversion of wood into coal.

Q5.  When the crude oil is referred to be ‘sweet’?

Q6.  Name the country which is the leading producer of petroleum.
Q7. Name the gas that occurs over petroleum in reservoirs deep inside the earth.
Q8.  What kind of pollution is caused by the burning of fossil fuels?
Q9.  Write the full form of LPG.

Q10. Which gas is produced when coal is burnt in air?

QI11. Can we use all our natural resources forever?



Q12.
Q13.
Ql4.
Q15.

What is the purest form of carbon?

Where and when was the first oil well drilled?

Name the places where natural gas is found in our country
What is fuel?

Q16.Define fossil fuels. Give examples.

Q17.
Q18.

Q109.
Q20.

Q21.
Q22.

Q23.
Q24.
Q25.
Q26.
Q27.
Q28.
Q29.

Q30.

What is coal? Write its two uses.

Name three constituents of petroleum and write their uses also

Explain about coal tar.

Name two products that you obtain from the destructive distillation of coal. What is the residue left
in’ this process? Give one main use of this residue.

Where do we get coal and how is it formed?

Define the term ‘petrochemicals.

What is CNG? What are its uses?

The burning of fossil fuels causes air pollution. Explain

Write a short note on petroleum.

How is the energy useful to us? Explain.

List the steps to conserve the resources.

Differentiate between coke and coal.

None of the fuels is clean fuel. Comment

Can forests help reduce the pollution caused by burning of fossil fuels? How?

Q31. What other source of energy may be used to drive vehicles?

Q32.

Q33.

Q34.

Q35.

Q1.
Q2.
Q3.
Q4.
Q5.
Q6.
Q7.
Q8.
Q.
Q10.
Ql1.

Q12.

Radhey prefers to go to school by pooling car. On other occasions he like to opt for public transport
rather than private transport. For short distances, he walks or uses bicycle.
(a) What are the benefits of carpooling?
(b) Which mean of transport do you think is best for short distances?
(c) How on our end we can reduce the consumption of fossil fuels?
(d) What values of Radhey are shown here?
There was an essay-writing competition on ‘How to Reduce your Carbon Footprint’ in Satish’s
school. Satish enquired his best on this topic to his elders and searched internet. He got the first prize
in the competition.
(a) What do you understand by the term ‘Carbon Footprint’?
(b) Suggest ways to reduce your carbon footprint.
(c) What values of Satish are shown here?
Get an outline map of India. Mark the places in the map where coal, petroleum and natural gas are
found. Show the places where petroleum refineries are situated.
Find out the location of major thermal power plants in India. What could be the reasons for their
being located at those places?
Physics: (Force and Pressure)
Is it true that force acting on an object can also change its shape? Explain
How can we change the speed and the direction of a moving body?
Does force of gravity act on dust particles?
Does the force of gravitation exist between two astronauts in space?
What is a force?

At least how many objects are needed to apply a force?

Give one example of gravitational force.

What do you mean by magnitude?

What is contact force?

What do you mean by the term atmosphere?

Which force is responsible for downward movement of a parachutes? Will he come
down with the same speed without the parachute?

How does an applied force changes the speed of an object?



Q13.
Ql4.
Q15.
Ql6.
Q17.

Q18.

QI9.

Q.20

Q21.
Q22.

Q23.

Name the forces acting on the car sticking to an electromagnet in a Junkyard. Which
one of them is larger?

What are the effects of force on an object?

What is force? State the difference between contact force and non-contact force.
Define the different types of forces.

We know that there is a huge amount of atmospheric pressure on us. But we do not
experience its effect why?

Two persons are applying forces on two opposite sides of a moving cart. The cart still
moves with the same speed in the same direction. What do you infer about the
magnitudes and direction of the forces applied?

An archer shoots an arrow in the air horizontally. However, after moving some
distance, the arrow falls to the ground. Name the initial force that sets the arrow in
motion. Explain why the arrow ultimately falls down.

Two rods: A and B, having same weight and equal length have different thickness. Rod
A 1s thinner while Rod B is thicker. They are held vertically on the surface of sand.
Which one of them will sink more? Why?

It is difficult to cut cloth using a pair of scissors with blunt blades. Explain.

Observe the figures given below carefully.
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T
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Volume of water in each vessel is shown above. Arrange them in order of decreasing
pressure at the base of each vessel. Explain the reason.
Take 4-5 plastic bottles of different shapes and sizes. Join them together with small

pieces of glass or rubber tube as shown in Fig. 11.11. Keep this arrangement on a level
surface. Now pour water in any one of the bottles. Note whether the bottle in which water is
poured gets filled first or all the bottles get filled up simultaneously. Note the level of water
in all the bottles from time to time. Try to explain your observations.

P Fig. 17.71



SUBJECT-MATHEMATICS

I. Solve the following equations and check the result:

1.2x-6=0
2.7X-2=8-Xx
3.8-2x=5-4x
4.4+3x=2-2x

5 2(x—-1)+2(3x-1)=0
6. 4(x-1) (2x-5)=4
7.2x—23=34-X
8.2y-13-y-24=1

9

X29+13=x-2x-13

10. 2x—13 - 2x—25=13

11. 2x—187+3x=2

12. 2x—35 + x+34 = 4x+14

13.Ten added to thrice a whole number gives 40. Find the number.

14.Four-fifths of a number is greater than three-fourths of a number by 8. Find the number.
15.The sum of two consecutive multiples of 4 is 60. Find the number.

16.Find and remember all the squares from 1 to 30.

17Find and remember all the cubes from 1 to 15.

18.Remember all the properties of Square. Rectangle. Parallelogram, Rhombus and Trapizium.

SUBJECT-SOCIAL SCIENCE

1.Revise all chapters done so far.

2.Prepare a model and report. Depletion of Resources.
3. Write and learn the glossary of the following lessons
History —Lesson 1

Social and Political science — Lesson -1

4.How did James’s mill view India?

5.Describe the key features of the Indian constitution.

SUBJECT-ENGLISH

1.Write the summary of the story “The Best Christmas Present In The World”.

2.Write a compare and contrast essay on- Medicines vs Natural Remedies.
(Word limit 200 words). Paste pictures related to the topic.

3.Fill the blanks with correct form of the verb —

a. He (want) to become a pilot.

b. Raju_ (go) to market yesterday.

c. Rain__ (be) the important source of water.

d. She  (has) her breakfast. Then she (leave) for the college.
e. They  (catch) the thieves very bravely.

f. Ithasjust  (rain).
4.Determine which type of verb is the underlined word-
a. The strong winds blew down the old tree.
b. Kayle is a bright student.
c. Nelson has built a huge castle in the sand.



d. Mathematics is John’s favourite subject.
e. The committee debates these questions carefully.
f. There were fifteen candies in that blue bag.
5.Mention which tense the sentences are in-
a. They are dancing well.
b. The twilight was creeping up over the garden.
c. We will never hear his fine voice again.
d. Ihave just had my lunch.
e. The girl has been plucking flowers in the garden.
f. The rainbow had disappeared.
g. Yesterday Alia had been reading the newspaper since 7 a.m.
h. Sobins will be receiving you at the airport.
I. Sarika will have prepared dinner by the time we reach home.
J.  Mahi will not have been learning her poems since morning that day.
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